EXPLORE

explore-glazing.nl

Explore Overlander & Overlander Light
Onderdeel Aantal Naam Omeschrijving
1 2 Arreteerbouten 4 x M5 x 12 Pin-Tx (2x)
2 2 Beschermplaat 2 x M5 x 8 hex (2x)
3 3 Scharnier 2 x M5 x 10 Pin-Tx (3x)
Optioneel
4 2 Airlinerails 7 x M5 x 8 PVKK (2x)




	Sheets and Views
	Sheet1


